Assembly Instruction

s =y N ™ = o A g
)
*]
i U oxa) ~  ex1)| J Ox1)
N\ ~\ N N
Ox1)| Ox1 ) Ox1) Ox1)
4 NP 3 2 Y d N
‘//52“'/“'“'/’ e
\ OX1J \: 0“4 GX1J \ 0“4
D OF & N N
@ x )L @x1 °"U\ 0x1)
M5*25 | M4*35 4"50 M5*70 M4*10 M4*38
Dx4 ®x17 Gx14 ®x12! @x4 G x4 ®x12 I x2
/AN WARNING:

@® Assembly by an adult.
® Small parts not for child or any individuals who have a tendency to place

inedible objects in their mouths.

@ This products contain sharp points and should be assembled by adult only.

@ Please follow the installation direction to assembling.

Bl
- @ Classic
"= WORLD
70013












